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267,000,000,000
Al 217,000,000,000
= x| 2l 2009.12.28 106,000,000,000 | SA Xt HEXNFZ(SA7(F) 4.85 54 A 104 2&atst | E H
ZOHEZTALY K| | Bt 2009.12.28 21,000,000,000 | SA %t HEXF(SA2F) 4.85 5 Hxl 104 2&atset | £
PN 2009.12.28 10,000,000,000 | M Xt HEXNF(SX7F) 4.85 5 AX 104 setatet | £
EAPSEPN -l N, 2009.12.28 20,000,000,000 | A X HEXF(SA7F) 4.85 54 A 104 2etatst | E
5ff of] 2t 2009.12.28 10,000,000,000 | ZSA &t HEXZ(ZR|F) 4.85 54 x|l 104 2gtatset | £
A A=
T EEy 2009.03.31 20,000,000,000 | BA %t X UISXZ(XGL7|2) | 4.00 54 AR 104 2&atst | E H
ST Sy 2009.06.30 10,000,000,000 | SA{ X} XLSSA2(XGML7(F) | 4.00 54 A 104 2&atst | E H
JEHbo| 2 AP kK] =N 2010.01.29 10,000,000,000 | ZA{xte X USSRZ (XM L7|Z) | 4.00 5 Hxl 104 2&atst | £
M5 & X| M| 2010.01.29 4,000,000,000 | SA X LSS A(XGHML7(F) | 4.00 54 AR 104 2etatst | E
AE T2 FEINM 2010.01.29 3,000,000,000 | SA X} ALSSA(XGHML7(F) | 4.00 54 AR 104 2etatst | E H
M| 7| ~ZEA A MR K| 2010.01.29 3,000,000,000 | SA X} X UISXZ(XG17|2) | 4.00 54 A 104 2&tatst | E H
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